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dx ) ĵ+(dHy

dx
−

dHx

dy )k̂

v=c=3.108 m/s v=λ . t

f= 1
T k=

2 π
λ

ω=2 π f v=ω
k

y (x , t)=ymsen(kx±ω t+ϕ) f=
1

2 π
.

1

√L .C
h=6,63 .10−34 js

E(x , t)=Em sen(kx−ω t) B(x , t)=Bm sen(kx−ω t)

∂E
∂x

=
∂B
∂x

∂B
∂ x

=−μ0 ε0
∂E
∂ t

Em=c .Bm E=c . B c=
1

√μ0 ε0



Potência=
Em

Δ t
I=

Potência
A

A=4π r2 A=π r2 I=
En

Δ t . A
S⃗=

1
μ0

E⃗x B⃗ S=
E.B
μ0

Iinstantâneo=|⃗S| I=Imédio=Smédio I=Imédio=Smédio I=
Em

2

2μ0c
I=c .

Bm
2

2μ0

Erms=
Em

√2

Brms=
Bm

√2
μE=

ε0. E2

2
μB=

B2

2μ0

μE=μB μonda=μB+μE Q=
Em

c
Q=

2Em

c

E1=h. f En=n. h. f Potência=
n. h. f
Δ t

I=n.h. f
Δ t . A

F=
I. A
c

F=
2.I . A

c
P=

I
c

P=
2I
c

Q=m. v (Q total)antes=(Q total)depois Qtotal=Q1+Q2+Q3+ ... I=
I0

2
I=I0.cos2(θ)


	Página 1
	Página 2

